i e
$
~ \"g jh‘ (@)
\
b — Ny
L r \,_ L _;
] ' '
A : ] ! :
] ' | : :
' : ' .
( 1
) e
. S R
() 1 ) '
d : : ' :
] ' : !
1‘ : : | : '
N o ' ' ' :
\ A F
\ ] ' ]
e ] ' ] :
] ' ]
] H y !
= _| \‘ i :_
I
1
PRODUCT NAME SIZE
oD C E w H w VP EL 40 150
VP10115-0040 40 480 27 0.6 wW3/8 25 M6x 25 79.4 15 28 PARTS NO. COLOR SURFACE TREATVENT
\VP10115-0050 50 60.0 27 06 w3/8 25 M6x 25 85.4 17 28 VP10115-
VP10115-0065 65 76.0 27 10 w3/s 25 M8x 25 954 20 28 A MATERIAL A B MATERIAL B € MATERIAL C
VP10115-0075 75 89.0 27 10 w3/8 25 M8x 25 1018 20 28 TPE Spce
VP10115-0100 100 114.0 27 1.0 w3/8 25 M8x 25 114.4 20 28 APPROVAL CHECK IN CHARGE DRAWN
VP10115-0125 125 1400 45 15 w1/2 32 M10x 35 | 153.3 25 35 M.Suga 210212
VP10115-0150 150 165.0 45 15 w1/2 32 M10x 35 | 166.1 25 35

AV) AWJsRax




